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The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x5=5

w7 fAPTRY Ao SR B fian

(a) Every scalar matrix is a diagonal matrix.
( Write True or False )

AT e ey b1 Red e |
( 317 A =pTey forar )

(b) If interest is compounded half-yearly,
what is the formula for finding amount?

T E [ taRfe B o FReE
g Refa w1 g1 forar o
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Given (f31 ®ICR) :
A = Amount (%Y%)
r =Rate of interest (Y )
P =Principal (%)
n = No. of years (I3 i)

Fill in the blank :
&t 3R A0 :
d =
= mQ=

where x denotes the volume of output
and TC is the total cost function.

TS x-9 Beoffts AT ARTT oF TC-9 TP
I T TR !

Find the mean proportional of 9 and 49.
9 HF 493 T4 AR Refy 37 |

If a man makes 20% profit on his selling
price, then what is his profit on cost
price?

G& TFCZ (JB1 TN €ORS 20% S I,
o8 (8 R TR e S [ ors $RI?

( Continued )

(3)

2. Answer any ﬁvé of the following questions :

2x5=10
wee e R e siivht opeq ey fia
(@) If @)
1 5
A=(§ 'i’ ‘Z‘) B=|o 2
3 2

then find the matrix AB.
CSR’CA AB (o] g 41

(b) X a:b=3:2and c:b=2:5, then find a:c.

MM a:b=3:2 9F c:b=2:5, (5@ a:c Afy
91

{c) A sum of money at simple interest
becomes I of itself in 6 years. Find the
rate of interest.

A 4 A 31 [0 6 I 9% WA 7
B LA | 3@ W Py F401

(d) Evaluate (g <) :

2 _
lim2x 8
x—-2 x-2
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Evaluate the following determinant :

were fran RefEeco™ I Refg F41
0O -h g
h O -f
g f O
Find (.39 :

A it @) y=xl
“z y=xlogx
dx

Find x and y (x <% Y& = Rda F71) if (3f%)
1 x+y) (1 7
(v ") o)

If cost price of 20 articles is equal to
selling price of 16 articles, then find the

percentage of gain.

Tt 2061 387 R T 1651 IFT (IBT 7Y I
¥, (OB XS A1S A7 40

{ Continued )

N

(§)

() An alloy contains copper and zinc in the
ratio 11: 7. Find the total volume of the
alloy if it contains 11-9 kg of zinc.

9Bl TFY ge OF T " SPerS 11: 7.
M qigs ™R ARG 119 kg T, (SR
R P & [efy o911

3. Answer any four of the following questions :
5x4=20
@l R e wiikGr e B o

fa) A person borrows T20,000 at 4%
compound interest and agrees to pay
both principal and interest in 10 equal
annual instalments at the end of each
year. Find the value of each instalment.

Given (1-04)71° =0.6761

T TR TR 4% s T vee
20,000 4L ' HIF oA AR S 1087 -
TN IIFE (e TR RoRe 1 afeeh
SRR R 158 Ream =7 fefy |

fren =z (1-04)710 = 0.6761

(b) A trader allows his customers 5%
discount on list price. What would be
the list price of an article costing
T712:50 to make a profit of 331 %?
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& @RI AT Filke TN 8o 5%
=% fica 1 334 % =S IR 712-50 Hre

R TR foilke o5 feam 2¥9 2

Prove that A2 -4A+3] =0, where I is
unit matrix, O is zero matrix and

A 2 -1

-1 2
o 9 A A2 —4A +31=0T'© I 2T G
@, 0 A 1 (o™ oF

2 -1
(3 3)

Find the average cost function and
marginal cost function for the following
total cost (TC) function. Evaluate them
at Q=3 and Q=5:

TR P T (TC) T4 3T TC T/ FoH %
AfRF I Fo AT 91 Q=3 WF Q=59
XA (% Fo PR TN A7 39 ¢

TC =35+50-202 +20Q°
Solve by Cramer’s rule :
(RS TafSd FAS LA 4T

x+2y+3z=6

2x+4y+z=7
3x+2y+9z=14

( Continued )
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Integrate any two of the following :
©oq R A oI S ey 90

(i j(& —%)2&

o e

(i) [> (x? -3x+2)dx

The value of a machine depreciates at
the rate of 10% p.a. At the end of
4 years, its value becomes ¥ 1,31,220.
Find the original value.
Given : (0-9)* =0-6561

1 ISR T TR 10% TS w1
4 T WO QHAEHE T 1,31,220 591 =,
(SR’ GRTOR aFe T R wifte Ao
I

fam ez : (0-9)* =0-6561

A contractor undertakes to complete
a work in 100 days. He employed
160 men who work 6 hours daily and
finished 2rd of the work in 80 days. How
many more men should he employed to
finish the work in stipulated time if the
men agreed to work 8 hours daily?
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o BFMIEE WA @B W 100 fwe ey
IR 160 w9 TR s IRt | o
fie 6 wBiT F™ FR IFOR 2 =t 80 e
ol R | o RPETEm TRR TE o
IR ImCH TS o FRI o[ IR IR
WREAR ficd 8 961 I IR TR =W 2

4. Answer any one of the following questions :

ool R @ @bt 2 T faan

(@) (i) A function is defined as follows :
«O1 FoI Tore fadl 4999
1-x, 0<x<l1
f(x)—{x—], x>1

Examine if f(x) is continuous at
x=1

Flog To9 x =1 Rpe iftes =ac, =0
I

(i) A steel plant produces x tons of
steel per week at a total cost of

3
f(%-?xz +111x+50]

Find the output level at which the
marginal cost attains its minimum. -

10

)
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<51 ST 2R
(§—7x2+111x+50)w«

x 57 O ofS AerEe Beerm d@ 1 R
ARTR Teome 2T I Pow |, GiR
oo s e 741

A certain sum of money amounts to
2,420 after 2 years and 2,662
after 3 years at a certain rate of
compound interest. Find the sum
and the rate of interest.

e W oe Fafe @rm g
a8y I W 2,420 TN wW® v
T TS 2,662 5 W | [ | uF
T g

Two taps A and B separately fill
a cistern in 20 minutes and
30 minutes respectively. Both the
taps are opened at the same time,
when the cistern is empty. After
sometime, the tap A is closed
keeping B opened and it takes 18
minutes from the beginning to get
the cistern filled. After how many
minutes, the tap A was closed?
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(10)

A 9% B W T8 &y 20 R we
30 fiffbe w@E 9o1 GRW 7 FRI
“{TCq | COIROICHT AT T SHHS JEAol Fail
e fr 21 o g SR <= A T4
77 IR fam 29 R B 8K e 0
25 | i RS ~[1 ERIBRH SfS TR
18 ffe wma, @R’ Ram Rt
AILS A T I T 02ReA 2

td

Define ‘objective function
associated with linear programm-

ing. What are the basic assump-
tions of linear programming? 1+4=5
R AET TS WY e Fo S
e il | (AR oA T qRPER &
2
Solve the following LPP graphically: §
R (ART o9&Nq AWIEl (T WM
ST 91 :

Minimize (Fa¥R T )

Z =20x+10y

subject to (FF AN CH)
x+2y <40
4x+3y 260
3x+y =30

x% Y20
( Continued )
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(i) Find the inverse of the following

matrix : 5
B (ol AfSTam Sferear -
123
A=|1 3 3
1 2 4

(i) A person earned T 330 by investing

10,200 partly in 41% stock at
T 135 and partly in 3% stock at
T96. How much money did the
man invest in each stock? 5

q&q Wz 10,200 TFR @B ERA
135 B91© 41% TS WF ARG A
96 5F1® 3% B Rfwae IR 330 T3
WE A | AR A e Rl
b1 Rifvcne sRfEe 2
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